CITY OF TEXARKANA, ARKANSAS 2024 STREET REHABILITATION BID DATE: JULY 9, 2024 BID TABULATION

			<u> </u>	TATUM EXCAVATING		CONTECH CONTRACTORS	FRANCIS EXCAVATING	
ITEM	QTY	UNIT	DESCRIPTION SCHEDULE A: DRAUGHN STREET	UNIT PRICE	TOTAL PRICE	UNIT TOTAL PRICE PRICE	UNIT PRICE	TOTAL PRICE
1	970	SY	Perform pulverizing of existing base to a depth of 8-inches, Furnish & Install Cement and Mixing at a rate of 40 pounds per square yard.	\$ 16.00	\$ 15,520.00	\$ 10.84 \$ 10,514.80	\$ 13.33	\$ 12,930.10
2	6230	SY	Perform asphalt pavement milling (2" thick) of existing Street surface (contractor retain millings)	\$ 3.20	\$ 19,936.00	\$ 3.85 \$ 23,985.50	\$2.85	\$ 17,755.50
3	7136	SY	Provide and Install ACHM Surface Mix (2" compacted depth)	\$ 16.00	\$ 114,176.00	\$ 16.93 \$ 120,812.48	\$ 19.05	\$ 135,940.80
4	23	SY	Remove & Replace Concrete Valley Gutter (6" thk) With reinforcement (#4 bar @ 18" O.C.E.W.)	\$ 385.00	\$ 8,855.00	\$ 253.53 \$ 5,831.19	\$ 130.00	\$ 2,990.00
5	1	EA	Perform Replacement of Curb Inlet (Concrete 6'x5')	\$ 10,359.00	\$ 10,359.00	\$ 4,688.20 \$ 4,688.20	\$_6,500.00	\$ 6,500.00
6	1	LS	Perform Testing of materials, compaction, or other items requested by the Engineer and performed by an approved laboratory with a project allowance of \$2,500	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00 \$ 2,500.00	\$_2,500.00	\$ 2,500.00
7	24	SY	Perform removal of existing concrete patches for The purpose of cement stabilization	\$ 30.00	\$ 720.00	\$ 52.71 \$ 1,265.04	\$ 133.00	\$ 3,192.00
8	1	LS	Provide and Install Street Pavement Markings (railroad x-ing, and stop bars) upon completion of Paving	\$ 850.00	\$ 850.00	\$ 880.00 \$ 880.00	\$ 1,880.00	\$ 1,880.00
			Schedule A: TOTAL OF ITEMS (1-8)	\$ 17	2,916.00	\$ 170,477.21	\$ 183,688.40	
9	23560	SY	SCHEDULE B: HASTINGS CROSSING Perform pulverizing of existing asphalt surface and base to a depth of 8-inches, furnish and install Cement and Mixing of existing base at a rate of 40 pounds per square yard.	\$ 10.50	\$ 247,380.00	\$ 10.84 \$ 255,390.40	\$ 13.12	\$ 309,107.20
10	21410	SY	Provide and Install ACHM Surface Mix (2" compacted depth) including prime coat	\$ 16.00	\$ 342,560.00	\$ 16.93 \$ 362,471.30	\$ 16.28	\$ 348,554.80
11	6620	LF	Perform fine grading of ditchline to ensure positive Drainage and remove excess silt	\$ 5.00	\$ 33,100.00	\$ 8.80 \$ 58,256.00	\$ 5.75	\$ 38,065.00
12	1	LS	Perform Testing of materials, compaction, or other items requested by the Engineer and performed by an approved laboratory with a project allowance of \$3,000	\$ 3,000.00	\$ 3,000.00	\$ 3,000.00 \$ 3,000.00	\$ 3,000.00	\$ 3,000.00

CITY OF TEXARKANA, ARKANSAS 2024 STREET REHABILITATION BID DATE: JULY 9, 2024 BID TABULATION

			DID TABOLATION	TATUM EXCAVATING		(CONTECH CO	NTRACTORS	FRANCIS EXCAVATING	
ITEM	QTY	UNIT	DESCRIPTION	UNIT PRICE	TOTAL PRICE	-	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
13	600	SY	SCHEDULE B: HASTINGS CROSSING Provide and Install Select Fill Material (as approve By Owner), 24" depth	\$ 15.00	\$ 9,000.00	_ \$	19.80 \$	11,880.00	\$18.66	\$ 11,196.00
14	18	EA	Provide and Install gravel material to driveways (like kind) to transition to new asphalt pavement edge, Throughout the duration of the project including materials, all labor and equipment	\$ 400.00	\$ 7,200.00	_ \$_	825.00 \$	14,850.00	\$ 710.00	\$ 12,780.00
15	190	LF	Provide and Install 12" HDPE (N-12 dual wall pipe) (driveway) to include removal of existing Culvert	\$ 61.00	\$ 11,590.00	_ \$_	37.84 \$	7,189.60	\$ 45.59	\$ 8,662.10
16	104	LF	Provide and Install 15" HDPE (N-12 dual wall pipe) (driveway / street) to include removal of existing Culvert	\$ 85.00	\$ 8,840.00	_ \$_	42.91 \$	4,462.64	\$ 57.72	\$ 6,002.88
17	80	LF	Provide and Install 18" HDPE (N-12 dual wall pipe) (street crossing) to include removal of existing Culvert	\$ 75.00	\$ 6,000.00	_ \$	47.97 \$	3,837.60	\$ 72.11	\$ 5,768.80
18	28	LF	Provide and Install 24" HDPE (N-12 dual wall pipe) (street crossing) to include removal of existing Culvert	\$ 119.00	\$ 3,332.00	_ \$_	62.43 \$	1,748.04	\$ 88.10	\$ 2,466.80
19	26	LF	Provide and Install 30" HDPE (N-12 dual wall pipe) (driveway crossing) to include removal of existing Culvert	\$ 128.00	\$ 3,328.00	_ \$_	75.93 \$	1,974.18	\$ 117.89	\$ 3,065.14
20	1600	SF	Provide and Install Concrete Pavement (5" thk) with No. 3 bars at 18" O.C.E.W.	\$ 11.50	\$ 18,400.00	\$_	18.70 \$	29,920.00	\$ 11.00	\$ 17,600.00
21	1340	SF	Provide and Install Rock Rip-Rap (8" typ) to include 5 oz woven geotextile fabric, all labor and equipment	\$5.00	\$\$,700.00	\$_	3.30 \$	4,422.00	\$ 7.25	\$ 9,715.00
			Schedule B: TOTAL OF ITEMS (9-21)	\$	700,430.00	_ \$ <u>_</u>	759,4	01.76	\$ 775	,983.72

CITY OF TEXARKANA, ARKANSAS 2024 STREET REHABILITATION BID DATE: JULY 9, 2024 BID TABULATION

				TATUM EXCAVATING		CONTECH CONTRACTORS	FRANCIS EXCAVATING		
ITEM	QTY	UNIT	DESCRIPTION SCHEDULE C: MANOR WAY	UNIT PRICE	TOTAL PRICE	UNIT TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
22	11874	SY	Perform pulverizing of existing asphalt surface and base to a depth of 8-inches, Furnish & Install Cement and Mixing of existing base at a rate of 40 pounds per square yard	\$ 10.50	\$ 124,677.00	\$ 10.84 \$ 128,714.16	\$ 13.16	\$ 156,261.84	
23	1560	SY	Perform pulverizing of existing asphalt surface And base to a depth of 10-inches, Furnish & Install Quick Lime (TY C) and Mix existing base at a rate of 40 lb/sy	\$ 13.50	\$ 21,060.00	\$ 22.91 \$ 35,739.60	\$ 13.46	\$ 20,997.60	
24	10864	SY	Provide and Install ACHM Surface Mix (2" compacted depth) including prime coat	\$ 16.00	\$ 173,824.00	\$ 16.93 \$ 183,927.52	\$ 16.28	\$ 176,865.92	
25	1370	LF	Perform fine grading of ditchline to ensure positive Drainage and remove excess silt	\$ 5.00	\$ 6,850.00	\$11.00\$_15,070.00	\$ 5.75	\$ 7,877.50	
26	1	LS	Perform Testing of materials, compaction, or other items requested by the Engineer and performed by an approved laboratory with a project allowance of \$4,000	\$ 4,000.00	\$ 4,000.00	\$ 4,000.00 \$ 4,000.00	\$ 4,000.00	\$ 4,000.00	
27	600	SY	Provide and Install Select Fill Material (as approved By Owner), 24" depth	\$15.00	\$ 9,000.00	\$ 19.80 \$ 11,880.00	\$ 18.66	\$ 11,196.00	
28	70	LF	Provide and Install 15" HDPE (N-12 dual wall pipe) (driveway) to include removal of existing culvert	\$ 67.00	\$ 4,690.00	\$ 42.91 \$ 3,003.70	\$ 51.69	\$ 3,618.30	
29	70	LF	Provide and Install 18" HDPE (N-12 dual wall pipe) (street crossing)	\$ 85.00	\$ 5,950.00	\$ 47.97 \$ 3,357.90	\$ 65.49	\$ 4,584.30	
30	16	EA	Provide and Install gravel material to driveways (like kind) to transition to new asphalt pavement edge, Throughout the duration of the project including materials, all labor and equipment	\$ 400.00	\$ 6,400.00	\$ 825.00 \$ 13,200.00	\$ 710.00	\$ _11,360.00	
			Schedule C: TOTAL OF ITEMS (22-30)	\$ 35	6,451.00	\$ 398,892.88	\$ 396	,761.46	

CITY OF TEXARKANA, ARKANSAS

2024 STREET REHABILITATION

BID DATE: JULY 9, 2024 BID TABULATION

				TATUM EXCAVATING		CONTEC	CH CONTRACTORS	FRANCIS EXCAVATING	
ITEM	QTY	UNIT	DESCRIPTION	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
			SCHEDULE D: OLD BOYD ROAD	PRIC	E PRICE	PRICE	PRICE	PRICE	PRICE
31	3132	SY	Perform pulverizing of existing asphalt surface and base to a depth of 8-inches, Furnish & Install Cement and Mixing of existing base at a rate of 40 pounds	\$ 12.00	37,584.00	\$10.84	\$ 33,950.88	\$ 13.26	\$ 41,530.32
32	2840	SY	Provide and Install ACHM Surface Mix (2" compacted depth) including prime coat	\$ 16.00	\$ 45,440.00	\$ 16.93	\$ 48,081.20	\$ 21.40	\$ 60,776.00
33	1	LS	Perform Testing of materials, compaction, or other items requested by the Engineer and performed by an approved laboratory with a project allowance of \$2,500	\$ 2,500.	00 \$ 2,500.00	\$ 2,500.00	2,500.00	\$ 2,500.00	\$ 2,500.00
34	30	LF	Provide and Install 18" HDPE (N-12 dual wall pipe) (street crossing) to include removal of existing Culvert	\$ 89.00	\$ 2,670.00	\$ 47.97	\$ 1,439.10	\$ 65.49	\$ 1,964.70
35	300	SY	Provide and Install Select Fill Material (as approved By Owner), 24" depth	\$ 15.00	\$ 4,500.00	\$ 19.80	\$5,940.00	\$ 18.66	\$ 5,598.00
36	4	EA	Provide and Install gravel material to driveways (like kind) to transition to new asphalt pavement edge, Throughout the duration of the project	\$ 400.0	0 \$ 1,600.00	\$ 825.00	\$ 3,300.00	\$ 710.00	\$ 2,840.00
			Scendule D: TOTAL OF ITEMS (31-36)	\$	94,294.00	\$	95,211.18	\$ 115	,209.02
			TOTAL OF ALL SCHEDULES (A-D) BASE BID	\$	1,324,091.00	\$1	,423,983.03	\$1,47	1,642.60

CITY OF TEXARKANA, ARKANSAS

2024 STREET REHABILITATION BID DATE: JULY 9, 2024 BID TABULATION

		BID TABULATION		TATUM EXCAVATING		CONTEC	LCONTRACTORS	FRANCIS EXCAVATING	
			D TOODUSTION!			CONTECH CONTRACTORS		UNIT	TOTAL
ITEM	QTY	UNIT	DESCRIPTION	UNIT	TOTAL	UNIT	TOTAL		
			DEDUCTIVE ALTERNATE #1	PRICE	PRICE	PRICE	PRICE	PRICE	PRICE
			DEDUCTIVE SCHEDULE B: HASTINGS CROSSING						
9	7580	SY	Perform pulverizing of existing asphalt surface and base to a	\$ 10.50	\$ <u>79,590.00</u>	\$ 10.84	\$ 82,167.20	\$13.12	\$ _99,449.60
			depth of 8-inches, furnish and install Cement and Mixing of						
			existing base at a rate of 40 pounds per square yard.						
10	6894	SY	Provide and Install ACHM Surface Mix (2" compacted depth)	\$ 16.00	\$ 110,304.00	\$ 16.93	\$ 116,715.42	\$ 16.28	\$ 112,234.32
			including prime coat						
11	2100	LF	Perform fine grading of ditchline to ensure positive	\$ 5.00	\$ 10,500.00	\$ 8.80	\$ 18,480.00	\$5.75	\$ 12,075.00
			Drainage and remove excess silt						
14	7	EA	Provide and Install gravel material to driveways	\$ 400.00	\$ 2,800.00	\$ 825.00	\$ 5,775.00	\$ 710.00	\$ 4,970.00
			(like kind) to transition to new asphalt pavement edge,						
			Throughout the duration of the project including materials, all						
			labor and equipment						
4.5	446		D = 11 = 11 + 12 12 10 15	\$ 61.00	\$ 7,076.00	\$ 37.84	\$ 4,389.44	\$ 45.59	\$ 5,288.44
15	116	LF	Provide and Install 12" HDPE (N-12 dual wall pipe)	\$ 61.00	\$,076.00	\$ 37.84	3 4,389.44	\$ 45.59	\$
			(driveway) to include removal of existing						
			Culvert		210,270.00	\$ 2	27,527.06	ć	34,017.36
			SCHEDULE B: TOTAL DEDUCTIVE ITEMS (9-11 AND 14-15)	\$	210,270.00	. 32	27,527.06	ş <u>Z3</u>	54,017.30
			DEDUCTIVE SCHEDULE C: MANOR WAY						
22	3150	SY	Perform pulverizing of existing asphalt surface and base to a	\$ 10.50	\$ 33,075.00	\$ 10.84	\$ 34,146.00	\$ 13.16	\$ 41,454.00
22	3130	31	depth of 8-inches, Furnish & Install Cement and Mixing of	<u> </u>		<u> </u>	_	<u> </u>	
			existing base at a rate of 40 pounds per square yard						
			existing base at a rate or 40 pounds per square yard						
24	2836	SY	Provide and Install ACHM Surface Mix (2" compacted depth)	\$ 16.00	\$ 45,376.00	\$ 16.93	\$ 48,013.48	\$ 16.28	\$ 46,170.08
			including prime coat				_	,	
27	300	SY	Provide and Install Select Fill Material (as approved By Owner),	\$ 15.00	\$ 4,500.00	\$ 19.80	\$ 5,940.00	\$ 18.66	\$ 5,598.00
			24" depth						
			SCHEDULE C: TOTAL DEDUCTIVE ITEMS (22, 24 AND 27)	\$	82,951.00	. \$8	38,099.48	\$9	3,222.08
			TOTAL BASE BID LESS DEDUCTIVE ALTERNATE 1 ITEMS						44 400 46
		(S	CHEDULE B DEDUCTIVE ITEMS 9-11 AND 14-15 AND SCHEDULE C	\$	1,030,870.00	. \$1,	108,356.49	\$1,1	.44,403.16
			DEDUCTIVE ITEMS 22, 24, AND 27)						

JASON HALEY, P.E. PROJECT ENGINEER

^{*}Note correction made by A.L. Franks Engineering